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Instruction :  Write answers of all questions in main answer sheet.

1. MCQ.
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IfA={2,4,6.8...}.,B={1,3,5,7...}.then AnB =
(a) o (by N
() {2,4,6,8} (d) {1.3.5,7}
A'NB =
(@ (AnB)’ (by (AUBY
() AYuB (d)  None of these
IfA={1,2,3,4}andB=1{4,5,6),then B-A =
(a) {4} (by {1.2,3.4,5.6}
(c) {5.6} d {1.2,3}
A-B=__
(a) B-A by A'NnB’
¢y A'NnB (d)  None of these

1 P.T.O.

(6}

(8)

9)

(10)

(n
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IfA={1,5.7.9}.B=(5.4.8).then A" B =
(@) {5} by 5
©) o (dy {1,4.5,7.8,9)

The slope of a line perpendicular to the whose equation is
2y +6x=241is

(a) 1/6 (by 173

(c) —-1/6 (d -3

For two perpendicular lines, which of the following conditions is true ?
(a) m #m, (b) m;=m,

(¢) mxm,=-1 (d m xm,=1

For what value of k if 2k +4, 3k = 7and k + 12 from an A.P.?
(a) 12 (by 14
(¢) 20 (d) None of these

Write the formula of S in G.P.

a(r'—1) a
(a) T (b) -
ar" - | a
© T @ T
Write the formula of S, in A.P.
n n
@ 5@+m-1)d) (b) 5Qa+(n-1)d)
(c) % Cn+@-Hd) (dy  None of these
T, =20,T,,=60foran A.P. Find T,,.
(a) 67 (b)y 60
(c) 76 (d)y 80




(12) Foran AP.S =n(n+ 1).Find T,.

(a) 3n (b) 5n
(c) n? (d) 2n
(13) Write A=
adiA adl'A !
@ Tjal ® A

(c) A-adjA - * (d)- None of these
|

i

(14) Write (AB)!' = . ‘

(@ A'-B! ® B A

(c) BA (d) None (ﬁf these
(I5) IfA={a;.a,,,a;3 ...} thenitissaid to be a matrix.
(a) Column (b) Null
]
(c) Row (d) Noné of these

(16) If A is a matrix of order m x n and B is a matrix of order n x p, then
the product BA will be a matrix of order

(a) mxp (b) pxm

() mxn ' (d) None of these
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(17)
(18)
(19)
(20)
2. (a)
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Range R = N
(a) H-L (b) L-H
© ~3 (d) None of these

The square value of S.D is called
(a) Mean (b) Variance
(c) Mean deviation (d) Mode

Range, Q. D, M.D and S.D are the measure of .
(a) Skewness (b) Mean

(c) Dispersion (d) None of these

The value of Z, for the observations 0, 1,2,3, 1,4, 1,0, 3, is

(@ 0 (b)) 2
(©) 3 1
Any three : . 6

(1) Explain : Empty set, Subset.
(2) Write properties of intersection of sets.
(3) Find the distance between the points (7, 8) and (1, 0)

(4) Prove that (-2, -2), (-1, -2), (3, 1) are the vertices of an
isosceles triangle.

(5) Find mean :
x: 64 63 62 61 60 59
f: 8 18 12 9 7 6

(6) Explain : Range.




Any three : 9

(1) Find cquation of the line passing through the points (3. -7) and
(-4.9).

(2) Find the equation of line passing through (4. 2) and Parallel to
3v-2y=3.

3) HU={1.2.3,4.5.6}.A={2.3.6}.B={3.5.6} verify that
(AUB)Y=A"NnB".

4) IfA=1{2.4}.B={2,4.6}. then find A x B.

(5) Explain : Merits of Median.

(6) Find the mean deviutiAon frém mean o?th‘ following data :
x: 60 61 62 63 64 65 66 67 68
f: 2 0 15 29 25 12 10 4 3

(¢) Anytwo: 10
(1) Provetht Au(BnC)=(AuB)n(AuUC).
(2) fA={x/x*=5x+6=0.xe N},B={y/y’-4=0.ye z}.
C={2/z"-9z2+14=0,ze N}. find (A x B) U (A x ().

(3) Find Median
x: 10-19 20-29 30-39 40-49 50-59 60-69
f: 12 19 31 24 16 8

(4) Find quartile deviation
x: 50-53 53-56 56-59 59-62 62-65 65-68
f: 2 7 24 27 13 3

(5) Find standard deviation

x: 0-500 5001000 1000-1500 1500-2000 2000 - 3000

f: 90 218 86 4 15
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3. (a)
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Any threc :
(1) Define with example : Arithmetic Progression.
(2) 1f the 35" term of an A.P. is 30, then sum ol its first 69 terms.

(3) Ty=+4and T,=~8are in A P. Find which term is zcro.

(4) Explain : Null matrix. Transpose matrix.

" 4 5
. 257 .
(5) ITA:[ } B=| 6 -2 |.find AB.
8 4 3 3 7

i 51 {—2 0 317 .
(6) Ifx= 021 Y={ 1 3] %227 Lfind x (y + Z).

Any three :

(1) If the 3™ term of G.P. is the square of the first and fifth term is
64. Find the series.

(2) Prove that T =ar™!
(3) Find the sum of n terms of the series

9499 +999 + 9999 + ...

4
(4) B =‘: 5 } find BB'.
6

(5) Find adjoint of following matrix :

[95]

0

3 } then find A(BC)".
0

<

(6) IfA={2. 1.3].B:[325].C=\:

[V R IS
to

6



(C) Anytwo: 10

n
(1) ProvethatS, =5 Q2a+(n-1)d)

f1 2] 1 4
(2) IfA= Jand B =| 1
| =1 = L1o-1

Prove that (A + B)? = A? + B2,

1 -1 0
(3) IfA=] 0 I —1 | then prove that
L1 0 -1

o,

A'-3A2+3A-21,=0,

3 2 xoy |
4) lfA:[4 l}andB:[; ;J.ﬁnd the valuc of x and y if

AB =BA.

(5) Ina G.P. the sum of n terms is 511. the last term is 256 and the
common ratio is 2. Find n and the first term of G.P.
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